ANNEXURE A:APPLICATION OF 3b and 3c in the CIRCULAR

1.1 Scenario 1: Application of 3b

Subject Original | Adjusted Adjustment | Motivation

Afrikaans FAL | 37 40% 3% The three subjects are below
40%. An adjustment of between

Social Science | 35 40% 5% 1% and 5% will be made only
on these subjects to a mark of

Technology 39 40% 1% 40%. The adjusted mark should
not exceed 40%

1.2 Scenario 2: Application of 3b and 3c

Subject Original | Adjusted | Adjustment Motivation

Afrikaans FAL | 37 40% 3% In this case the four subjects
are below 40%. The learner’s

Social Science | 35 40% 5% marks in the other three
subjects will be adjusted. The

Technology 39 40% 1% learner will then be condoned in

Mathematics | 25% C 25% No adjustment | Maths

1.3 Scenario 3: Application of 3b

Subject Original | Adjusted | Adjustment Motivation

Mathematics 35 40% 5% In this case the 3 subjects
below 40% include Maths. The

Social Science | 36 40% 4% learner’s marks will be
adjusted. The Maths mark will

Technology 38 40% 2% be adjusted to 40%. Maths

mark will not be condoned

1.3 Scenario 4: Application of 3b and 3c

Subject Original | Adjusted | Adjustment Motivation

Mathematics 32 37% C 5% In this case the three subjects
are below 40% and it includes

Social Science | 37 40% 3% Maths. However, the Maths
mark will still be below 40%

Technology 38 40% 2% after adjustment. The Maths

adjusted mark will be condoned




